<u>Power Serves</u>

Def 9.4.7 If
$$f_n(x) = a_n(x-c)^n$$
, $a_n < c \in \mathbb{R}$, $\forall n=0,1,2,\cdots$
then $\sum f_n(x) = \sum a_n(x-c)^n$
is called a power series around $x = c$.

Remarks: Power serves usually starts with
$$n=0$$
 (instead of $n=1$):
 $\Sigma q_{u}x^{n} = a_{0} + a_{1}x + a_{z}x^{2} + \cdots$

•
$$\sum \alpha_{n} x^{n}$$
 may not defined over all of IR:
(i) $\sum_{n=0}^{\infty} n! x^{n}$ converges only for $X=0$, (Ex?)
(ii) $\sum_{n=0}^{\infty} x^{n}$ converges for $|X|<1$, (geometric series)
(iii) $\sum_{n=0}^{\infty} \frac{x^{n}}{n!}$ converges $\forall x \in \mathbb{R}$, (exponential function)
Hence there is a need to determine the set on which
 $\sum \alpha_{n} x^{n}$ converges,

In the following, we consider the case that "C=0''. This is no loss of generality as the *translation* y = x - C''redues $\Sigma Gn(x-C)^n$ to $\Sigma Gn Y^n$.

$$\frac{\text{Recall}: (\text{Def 3.4.10 } \times \text{Thm 3.4.11})}{\text{Fa}(X_n) \text{ a bounded seq., limit superior of (X_n):
$$\frac{\text{def}}{\text{linsup}} X_n \stackrel{\text{def}}{=} \inf \{ \text{ver} \mathbb{R}: \text{ver} \text{ for finitely many } n \}$$

$$= \inf \{ \text{ver} \mathbb{R}: X_n \leq D \text{ for sufficiently large } n \}$$$$

$$\frac{Dof 9.4.8}{P} \quad \text{Let} \cdot \Sigma a_{n} X^{n} \text{ be a power series, and}$$

$$P = \begin{cases} lin_{i} \sup (|a_{n}|^{\frac{1}{n}}), i_{i} (|a_{n}|^{\frac{1}{n}}) \text{ is a bdd seg.} \\ +\infty , \text{ otherwise} \end{cases}$$
Then \cdot the radius of convergence of $\Sigma a_{n} X^{n}$ is defined by
$$R = \frac{1}{P} = \begin{cases} 0, i_{i} P = +\infty \\ \frac{1}{lin_{i} \sup |a_{n}|^{\frac{1}{n}}}, \text{ otherwise} (includes R = +\infty \\ where lin_{i} \sup |a_{n}|^{\frac{1}{n}} = 0 \end{cases}$$
 \cdot The interval of convergence is the open interval $(-R, R)$

$$(ii') \sum \frac{1}{n} x^{n} : p = \lim \sup |a_{n}|^{\frac{1}{n}} = \lim \sup \left(\frac{1}{n}\right)^{\frac{1}{n}} = 1 \quad (Ex!)$$

$$\implies R = \frac{1}{p} = 1$$

$$|x = 1 = \sum \frac{1}{n} x^{n} = 1 + \frac{1}{2} + \frac{1}{2} + \cdots \quad i_{n} \quad divergent$$

$$|x = -1 = \sum \frac{1}{n} x^{n} = 1 - \frac{1}{2} + \frac{1}{2} - \cdots \quad i_{n} \quad convergent.$$

$$\begin{aligned} (iii') \quad \overline{\sum} \frac{1}{n^2} \times^{n} &: \quad p = \lim \sup |a_n|^{\frac{1}{n}} = \lim \sup \left(\frac{1}{n^2}\right)^{\frac{1}{n}} = 1 \quad (E_x!) \\ & = \right) \quad R = \frac{1}{p} = 1 \\ | \quad x = 1 \; = \quad \overline{\sum} \frac{1}{n^2} \times^{n} = 1 + \frac{1}{2^2} + \frac{1}{3^2} + \cdots + \tilde{u} \quad \text{convergent}, \\ | \quad x = -1 \; = \quad \overline{\sum} \frac{1}{n^2} \times^{n} = 1 - \frac{1}{2^2} + \frac{1}{3^2} - \cdots + \tilde{u} \quad \text{convergent}. \end{aligned}$$

Pf of Cauchy-Hadamand Thm:
• R=0 and R=+60 leave as exercises.
Assume 0n conveges for x=0.
Consider 0<[x]|x|
Therefore
$$P^{|X|} = leavenp(|an|^{\frac{1}{n}}|x|) < C$$
.
⇒ ∃KG(N such that
if $n > K$, then $|an|^{\frac{1}{n}}|x| < C$.
⇒ $|anx^{n}| < C^{n}$, $\forall n > K$
Since $o<<1$, $∑ C^{n}$ is convergent.
By Comparison Test (Thm3.F.F), $∑ |anx^{n}|$ is convergent
i.e. $∑ anx^{n}$ is absolutely convergent.
This proves the $|S^{T}|$ part.
If $|x|>R = \frac{1}{P}$, then $p = leavenp |an|^{\frac{1}{n}} > \frac{1}{|x|}$.
⇒ $|an|^{\frac{1}{n}} > \frac{1}{|x|}$ for infaritely namy $n \in M$
i.e. $|anx^{n}| > 1$ for infaritely many $n \in M$
and there $anx^{n} +> 0$. $\therefore Zanx^{n}$ is divergent.

Ramanks:(i) If lim
$$|\frac{a_{11}}{a_{n+1}}|$$
 exists, then radius of conveyence = lim $|\frac{a_{11}}{a_{11+1}}|$.
(Ex 9.4.5)
(ii) If one can choose $0 < C < 1$ independent of $x \in (-R, R)$,
then one get unifam convergence.

$$\frac{Thm 9.4.10}{I} : Let_{f} \cdot R = radius of convergence of \Sigmaanxn}$$

$$I \cdot [a,b] \subset (-R,R) \quad be a closed and bounded interval.$$
Then Σanx^{n} converges uniformly on [a,b].

Thm 9.4.11

- The limit of power series is <u>continuous</u> on the interval of convergence.
- A power series can be <u>integrated term-by-term</u> over any <u>closed and bounded</u> interval contained in the interval of convergence.

$$\begin{split} & \not{F} : \bullet \forall \ x \in (-R, R), \ choose \ a \ closed \ a \ bounded \ unterval \ [a,b] \\ & s.t. \ x \in [a,b] \subset (-R, R). \ Then \ on \ [a,b], \\ & \quad Za_{p} X^{n} \ converges \ uniformly. \\ & \quad Thun 9.4.2 \Rightarrow \quad \sum_{n=1}^{\infty} a_{n} X^{n} \ is \ cartinuas \ an \ [a,b] \ and \ dence \ at x \\ & \quad Surce \ x \in (-R, R) \ is \ aubitrary, \ \sum_{n=0}^{\infty} a_{n} X^{n} \ is \ cartinuas \ an \ (-R, R). \end{split}$$

• Fa any closed and bounded interval [a,b] C(-R,R), $Zanx^{n}$ converges uniformly on [a,b] (Thm 9.4.10) and hence Thm 9.4.3 \Rightarrow $\int_{n=1}^{\infty} Zanx^{n} = \sum_{n=1}^{\infty} \int_{a}^{b} anx^{n}$.

Thun 9.4.12 (Differentiation Thin)
A power series can be differentiated term-by-term within the
interval of convergence. In fact, if
$$R = radius of convergence of 2anx^n$$

and $f(x) = \sum_{n=0}^{\infty} a_n x^n$, for $|x| < R$,
then the radius of convergence of $\sum_{n=0}^{\infty} na_n x^n = R$,
and $f'(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f'(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f'(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f'(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f'(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f'(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$
 $f(x) = \sum_{n=1}^{\infty} na_n x^{n-1}$, for $|x| < R$

=
$$\lim_{n \to \infty} |na_n|^{\frac{1}{n}} = \lim_{n \to \infty} |na_n|^{\frac{1}{n}}$$

= $\lim_{n \to \infty} |a_n|^{\frac{1}{n}}$ (since $n^{\frac{1}{n}} \rightarrow 1$)
= R.

Hence Radius of convergence of
$$\Sigma nauxn$$

= Radius of convergence of $\Sigma a_{n}x^{n}$.
Note that $\Sigma a_{n}x^{n}$ converges for $x=0$

Now
$$\forall x \in (-R, R)$$
, choose $0 < a < R$ such that $|x| < a$.
Then $\cdot Ea, aI$ is closed and bonded,
 $\cdot = Ea, aI = (-R, R)$ and
 $\cdot = 0 \in E-a, aI = s, t. \geq anx^n$ conveges at $x = 0$.
Using Thur 9.4.10, Thus 8.23 and note that
 $\cdot = (anx^n)' = nanx^{n-1}$
 $\cdot = \sum_{n=1}^{\infty} (anx^n)'$ conveges (uniformly or Ea, aI)
we have $\left(\sum_{n=0}^{\infty} a_n x^n\right)' = \sum_{n=0}^{\infty} (anx^n)' = \sum_{n=1}^{\infty} na_n x^{n-1}$ on Ea, aI
and in particular for X .
Since $x \in (-R, R)$ is arbitrary, we have
 $\left(\sum_{n=0}^{\infty} a_n x^n\right)' = \sum_{n=1}^{\infty} na_n x^{n-1}$, $\forall x \in (-R, R)$
 $\stackrel{\text{Kenneks:}}{=} (1)$ Differentiation Thm 9.4.12 nodes no conclusion for $|x| = R$:
 cg , $\sum \frac{1}{n} x^n$ conveges for $|x| = 1$ (= R)
but $\left(\sum_{n=0}^{\infty} x^n\right)' = \sum_{n=1}^{\infty} nx^{n-1}$ or $x = 1$.

(ii) Repeated application of Thun 9.4.12 =) $\forall k \in \mathbb{N}$, $\left(\sum_{n=0}^{\infty} Q_n \chi^n\right)^{(k)} = \sum_{n=k}^{\infty} \frac{n!}{(n-k)!} a_n \chi^{n-k}$

$$\frac{\text{Thm } 9.4.13}{\text{If } \Xi a_n x^n \propto \Xi b_n x^n \text{ causes for the same function } f}$$

$$\text{If } \Xi a_n x^n \propto \Xi b_n x^n \text{ causes for the same function } f$$

$$\text{on } au \text{ interval } (-r, r), r > 0, \text{ then}$$

$$a_n = b_n, \forall n \in \mathbb{N}$$

$$(\text{In } \text{fact } a_n = b_n = \frac{1}{n!} f^{(n)}(0))$$

$$\frac{Pf:}{Pf:} \text{ By remark } (i(1 \text{ of } \text{Thm } 9.4.12, \forall k \in \mathbb{N}, f^{(k)}(x) = \sum_{n=k}^{\infty} \frac{n!}{(n-k)!} a_n x^{n-k} \quad \forall x \in (-r, r).$$

$$\Rightarrow f^{(k)}(0) = \frac{k!}{(k-k)!} a_k \quad (D^{n-k} = 0 \text{ fa } n > k)$$

$$\Rightarrow a_k = \frac{1}{k!} f^{(k)}(0)$$
Same for $b_k.$

Taylor Series
Let
$$f$$
 that derivatives of all orders at a point $C \in \mathbb{R}$,
then one can form a power series
$$\sum_{n=0}^{\infty} \frac{f^{(n)}(c)}{n!} (x-c)^{n}$$

 \times

Note that , no convergence yet (unless x=c) (• Even it converges, it may not equal f(Ex. 9.4, 12)

Def we say that
$$f(x) = \sum_{n=0}^{\infty} \frac{f^{(n)}(c)}{n!} (x-c)^n$$

is the Taylor expansion of f at c if $\exists R > 0$ such that
 $\sum_{n=0}^{\infty} \frac{f^{(n)}(c)}{n!} (x-c)^n$ converges to $f(x)$ on $(c-R, c+R)$,
and $\frac{f^{(n)}(c)}{n!}$ are called Taylor coefficients.

(i.e. The remaider Rn(X) in Taylor's Thus -> 0 on (C-R, C+R)) <u>Remark</u>: By Uniqueness Thun 9.4.13, if Taylor expansion exist, if is mique.

$$\underline{Eg} 9.4.14$$
(a) $f(x) = \Delta \overline{u}_{x} , x \in \mathbb{R},$

Then $f'(x) = \begin{cases} (-1)^{k} \Delta \overline{u}_{x} , \overline{x} \\ (-1)^{k} \Delta \overline{u}_{x} , \overline{x} \end{cases} = n = 2k + 1.$

At $c=0$, we have $f'(0) = \begin{cases} 0 , x \\ (-1)^{k}, \overline{x} \\ (-1)^{k}, \overline{x} \end{cases} = 2k + 1$

Furthermore, by Taylors Thue 6.4.1,

He remaider $Rn(x)$ satisfies

$$\begin{aligned} |\mathsf{R}_{\mathsf{h}}(\mathsf{X})| &= \frac{|\mathsf{f}^{(\mathsf{h}\mathsf{t}|)}(\mathsf{C})| |\mathsf{X}|^{\mathsf{h}\mathsf{t}|}}{(\mathsf{h}\mathsf{t}|)!} & \text{for some } \mathsf{C}_{\mathsf{h}} \text{ between } \mathsf{X} \mathsf{R} \mathsf{O} \\ &\leq \frac{|\mathsf{X}|^{\mathsf{h}\mathsf{t}|}}{(\mathsf{h}\mathsf{t}|)!} \to \mathsf{O} \end{aligned}$$

i.
$$sin x = \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n+1)!} x^{2n+1}$$
, $\forall x \in \mathbb{R}$
is the Taylor expansion of $sin x$ at $x=0$.

Then application of Differentiation Thrm 9.4.12, we have

$$\cos x = \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n)!} x^{2n}$$
, $\forall x \in \mathbb{R}$
is the Taylor expansion of $\cos x$ at $x = 0$.

(b)
$$g(x) = e^{x}$$
, $x \in \mathbb{R}$
Then $g^{(n)}(x) = e^{x}$, $\forall x \in \mathbb{R} \implies g^{(n)}(o) = 1$.
By Taylor's Thin 6.4.1, the remainder satisfies
 $|R_{n}(x)| \leq \frac{e^{c}}{(n+1)!} |x|^{n+1}$ for some c between $x \ge 0$.
 $\leq \frac{e^{|x|} |x|^{n+1}}{(n+1)!} \longrightarrow 0$ as $n \ge \infty$.
 $\therefore e^{x} = \sum_{n=0}^{\infty} \frac{1}{n!} x^{n}$, $\forall x \in \mathbb{R}$
is the Taylor expansion of e^{x} at $x = 0$.

Furthermore, by $e^{X} = e^{C}e^{X-C} = e^{C}\sum_{n=0}^{\infty}\frac{1}{n!}(X-C)^{n}$, we see that $e^{X} = \sum_{n=0}^{\infty}\frac{e^{C}}{n!}(X-C)^{n}$ is the Taylor expansion of e^{X} at X=C.

Remark: This implies the radius of conveyence = + co
(says at c=0). Of course, one can derive it from
calculating
$$\left(\frac{1}{n!}\right)^{\frac{1}{n}} \rightarrow 0$$
 as $n \rightarrow +\infty$.